\ PRSI 4

L,

A\ SPECIFICATION

sUQIRSoLEUd

Engine 2-stroke, Air-cooled
Us:annmisiizonu

Working Form Shoulder type
gunanduons:uongu

Cylmder Displacement 40.2cc
HD’IUISDIOUIF]SODHDHO

Maximum Output Power 7500RPM
MAavINSOD

Power . . 1.47KW
ADUDALUNUUIBOIWED

Tank Capacity 0.8L

unrnun

Net Weight 8.5kg




SUR M(@’ inSopdannj

BRUSH| CUTTER;
TF ]
¥/

STROKE

# 3\ PROFESSIONAL

e dodaduduo:guItay

e JenoIWonUNSBU

e CREgaMUBUNINONNUNG
e Sadhusuldiiunun Run Great
o T38adoduINnuMmMuUwan

¢ Handlebar clamp is aluminum
¢ \With rubber

o AJQBAUISONOUAUADISD

* More wider than usual mmsnnoununmuso‘ioma
- S S * Tense the handles strikly mmansmwonoununo']Ulso
& THUONRISTRRo-a Rl * Hold the handles e Speed-control switch control the speed

dulurnonindndaaos

e Gear box outside is
aluminum, internal is
alloy steel.

easy control the speed easy adjust the
place to control the running speed.

e

£ o ubadancndoce K 1.6 Dadas (7474 KW;

10 12 0o ‘ : ‘ :
e Steel blade 2T, thickness 1.6mm, 12" 40 2
i }Z500/RPM|

=
L] FnUISICIE)SL‘JUC] Float |flunuau'iummc1 ] mmnaawuauua |hannumu WBlauu
la:hademsiUaausow NSNoIU Maviisonsinovaud 40-5
& e The Float type carburetor it is popular e The Float type carburator it is popular
and easy for reapair work. and easy for reapair work with longer
e life more power than 40-5 engine.

‘QUHS['UU']OSQ']U (Standard Accessories)

m.anTmHuﬁuﬂ:’uuhfn'l.uumnﬂmﬂﬁﬂ La1 Faasvniringainen deuus ‘M‘m'mn'ﬂumﬂwmﬁmmm“"ﬁ
amwmmumm:ﬂm vitauumala 1 Tailfiegunedlugfanldm wnftlarlumdgmibafaresum
Smne ‘vlﬁﬁqu‘m‘.w Taiwimiu

Always stop ihe engine md make sure that the cutting attachment is stopped before doing any maintenance or
repair work or cleaning the power tool. Do not attempt any maintenance or repair work not described in your
instruction manual. Have such work performed by your SUMO sendcing dealer only.

Ak FIEioU (Wamning)

- WQLPTT»IEEﬁLL'JJUN‘Tti!'W'LﬁﬁMIUH"I?IHHLLHQWHJ‘T

- I"I'II‘L'N'“.&I.Pl‘.?ﬂdﬁﬁ“l‘gﬂ'ﬁuﬂﬂd‘lﬁuﬂlﬁ".I"ILNNHH‘HTENWQEHHTL’.I"J‘LHELF\MNEENQ'T 15 LHRAT lL'I.cl'l!I.'I.!..'I‘I'I"I'Ts!‘Tl.d

- LNTJ.‘N"ILl.I.PIIﬂdﬂlﬂ“l’uﬂ“ﬂﬂHlﬂ?ﬂd‘luu?l')%ﬂﬂ')ﬁu F"JTN‘.I‘..H..M"I\'I‘.I‘.;W".I1\1"1'1711'1\1‘1“9EI‘NuBtIﬂEﬂj’NPITI‘T\LﬁQ
el uazlaitaand 15 wimr

= The machine is only designed for frimming grass.

= The machine operator must ensure that no people or animals come closer than 15 meters while working.

= When several operators are working in the same area the safely distance should be at least twice the free height
and no less than 15 meters.

® AgawWIe (Hamess)
e IWuUJoONU (Guard)
e Tudadantdhdoao i

Kun 1.6 Daaiuas €10 12 o
(Steel blade 2T, thickness 1.6mm, 12")

e AUO (Manual)

e nsiathldounsnd

° oUnsmuuuocl (Tools)

L] UOCIWHUU"IUU (Mixing bottle)




SUMO

vy
Mod.,

\y PROFESSIONAL

BC-241

= M -
I sguaamgfy
BRUSH| CUTTER|

FUIL4c

Run Great

()
w

Designation of parts
Fuel Tank
Rewind Starter
Air Cleaner
Switch
Spark Plug
Exhaust Muffler
Clutch Case
Hanger
Handle
10 | Throttle Lever
11 Throttle wire
12 | Shaft
13 Protector
14 | Gear Case
15 Handle Holder
16 | Cutter Blade
17 | Waist Pad
18 Fuel Filler Cap
Starter Knob
Choke Lever
Exhaust Pipe

Ol o N || & W N =




e

-’ -

® R pr—
SUMO srusweunteh €D TN

N\, PROFESSIONAL B“‘R“’us"j’?'@‘@’lﬁ%
2Ir L) =, JI .7 J jIF
Mod.,

BC-241

_‘/_;j‘

Run Great

ALAULTI LULNIUIRNLNALA
ki’.’lmﬁ'uawﬁ'méaﬁ'n wATANINE

lRWZRUTUAT WY

o« L4
“""a'.fw"ai ATLILTLARS
AU SUMO

2

!
' @ L(@ 5 g {0 8 31 LA
17 ¢

(e
G



SUMO’ inSovdannjy

BRUSH| CUTTER|

J3L4ic

# 3> PROFESSIONAL
Mod.

BC-241

Sr.No Description Thai Name QTy Price Remak
1 Air Filter Front Part 1
2 Spong(Square Type) 1
3 Spong(Circle Type) 1
4. Air Filter Behind Part 1
B Carburetor 1 520.-/Pc
6 Carburetor Gasket 1
7 Intake 1
8 Intake Gasket 1
] Intake Valve 1
10. Intake Valve Gasket 1
11.  Crankshaft 1
12. Key 3x13 1
13. Bearing @D10x@14x13 1
14. Piston Pin @10x33 1
15. Pin Ring @10 1
16. Piston 1] 150.-/Pc
17.  Piston Ring @40 1 35.-/Pc
18. Cylinder Gasket 1
19. Cylinder 1
20. Spark Plug 1 200.-/Pc
21. Cylinder Cover 1
22. Silencer Gasket 1
23. Silencer 1
24. Silencer Cover 1
25. Starter 1 200.-/Pc
26. Flywheel Cover 1
27. Flywheel 1
28. Ignition Coil 1 200.-/Pc
29. Oil Seal D15xD25x7 2
30. Right Crankshaft Box 1
31. Stopper Pin @5x10 1
32. Bearing 6202d 2
33. Left Crankshaft Box 1
34. Clutch 1 220.-/Pc
35. Fuel Tank 1 220.-/Pc
36. Tank Holder Damping 1
37. Tank Holder 1
38. Pipe Hoop 1
39. Fuel Pipe 1
40. Screw M5x20 1
41. Screw M5x12 7
42. Screw M5x55 2
43. Screw M6x20 2
44. Screw M6x16 10
45. Screw M5x35 4
46. Screw M5x25 4
47. Screw M5x40 7

48. Screw Mb5x14

49. Screw M5x20

50. Screw M5x12 1
51. Screw M6x60 2
52. Screw M5x14

53. Screw Plate @6x@16x1

N/A Connector

FaNT &,
(L



SUMO - nSovGann) gy iz

\INDUSTRIAL /Sy LA & —i}

‘Diaphragm carburetor
Less oil comsumptlon,

SPECIFICATION

bUAINSoVEUC .

Engine 2-stroke, Air-cooled
Us:annnisiizonu -
Working Form Shoulder type <
JunanduonNs:uonNgu

Cylinder Dispfacement 41.5cc
ﬂD’]UlSDlOUIﬂSO\)ﬁOﬁO

Maximum Output Power 7500RPM

ma\)lﬂsoo

Power 1.47KW :
ADUDALUNUUIBOIWED Fia— "l" !
Tank Capacity 094L © "-m\ —
thihudn —

Net Weight 8.5Kg '




S e o
41.55C,

2 strokeWAir-cooled
) HE Diaphragm carburetor

[ @
= wanlannovm

¢ | g L ti

d= |k wanlannobM ies: oifonsumption

iInsovdannahada-wra slu su Bc243
BRUSH CUTTER SUMO INDUSTRIAL MODEL BC243

§

¢ IWudoonusarodastanoulumsa

o IWudovriusaroda awnsnlisiano
nuludadanndy 1a:sarodasaals
lduibuda

e Combi-guard.

e The cutting attachment
combi-guard can be

used with either a grass
blade or a trimmer head.

e MSUISICOS lla: Shaft assy
mono:alidian

e Carburetor and Shaft assy made
from aluminum.

e dhuuoNifesSHINO:ADITEU ‘QUHSMUWOSQWU (Standard Accessories)

dulurnonindndaaos e

e Gear box outside is Q
aluminum, interal is
alloy steel.

® FLEEWIE (Harness)

e wWuJoonu Guard)

o rodastalbiduidu
(Trimmer head)

e Tuladarinn 2.0 Daduas

< 14 Ud Tudansoluuaneo

(Metal blade 2T, thickness 2.0mm 14")
e Tudadannnnkun o £ Manua)
2.0 Dadas 14 to ® IBUWA (glasses)
Tudansou:ane o Metal bowl
e Metal blade 2T, thickness @ Dust cover
2.0mm 14" e Lumbar pad

e ounspidulion (rools)
e YDAWAULNIJU (Mixing bottle)

A AIILELN (Suggestion) A MIciou (Warning)

w ] ' o o ° I | o = - '
e aseiuaziuladlusiangaviguuda Sassvihnpainedine deawta wiavhanugzean . mm‘%‘mﬂﬂguumﬁmﬂ SN TAALAIVEN 5
LATIARMG] atwenganainen viiateaumaila 1 Tlalaganelilugiianislinu wndiilogm = palinurTasiavnasiaiudlanlifiaviadniag FonlndlAsnionnd 16 whs Tutus
bl ARl B pii il i L A 3 |
Tumisldanulilsafenanaunus i viaguiiTnirglawinu iy
o u .U 5 ” k9 - 2 - a - - - ' 1 s ' £
Always stop the engine and make sure that the cutting attachment is stopped before doing any » dalinurrasdamnmasirradulfnudeiu ariiszezinsenimaiinuadiisianaa
maintenance or repair work or cleaning the power tool. Do not attempt any maintenance or repair ‘mmwugwmmu’lu wazlitiaandi 15 wimT
work not described in your instruction manual. Have such work performed by your SUMO servicing * The machine is only designed for trimming grass.

dealer only. = The machine operator must ensure that no people or animals come closer than 15 meters while working.
= \When several operators are working in the same area the safety distance should be at least twice
the tree height and no less than 15 meters.



mwma S TRIMMER LINE
(e  100% NYLON PA66 GRADE

—

\\ — LS = ‘. L L
3515 : [GruinSavdaaknj
USED WITH BRUSH CUTTER

lIluunau

ROUND TYPE
dandvkajy aaldsaaiss
Size : @3mm x 30m
Weight : 228 ¢
95.-/Pc
10 Pcs/Box, 40 Pcs/Ctn
HUUIKAQY U
SQUARE TYPE
Size : @3mm x 30m
Weight : 251 ¢
115.-/Pc
10 Pcs/Box, 20 Pcs/Ctn

Jollu:u ; c'I'U|n§a\)audqnn§\)fiaU|U§ﬂU|éum‘l.l_



